#£3902B% 75 2H5HEFIERS

Xy 1 Z—)UTR (EX2 6F9858 (&) : @AEN -
10% - 7T@3-JL K

1 2 3 4 5 6 7 8 9 (10| 11 ]| 12 |&&t| E
ZITH 1 0 1 4 3 0 0 9 —
MRULEEKRSE | 3 @) @) 4 6 @) @) 13| O
ZF—JUsIRI @) @) @) @) 0 1 0 1 5
2T 2 0 0 2 0 1 1 6 —
(5F) <AHRLEEKRRS> BF  RI_|BF @AW
T <@ K& 1@ | 2@ | 3@ | 4@ 5@ el | 7@ | 8@ || T# | =37 | 1= | B2 | &%
1 4 =iE2a | Wik« | PR J =D | HE] 3 1
8 AEIEA | & —Jo0|&BEn | £2= 3 2 3 1
2| H AIbER =iR 1
8 THE
7 WrEe= | =& | B | 8% 2 1 2
3| H ITHEZ 7o 1
7 BHRT
4 | DH | WAEA | BE Ha | ok 2 1
H. DH| #i&% POER
3 BERA | D= R | B 3 1 1
5| H =B rh= 1 1 2
3 PR
6| 5 WwosHE | Bx A | =R [#70 3 1 1
7| o G EED WE | BE =70 4 1
2 | keBiE—8p chR B | =ik =t 4
2 (OEIEING)
sl 6 FAOfeE =70 it | roEk 3 1 2 1
H, 6 | 7w@E8 1 ch7R 1
XIUEDBRENICES —BORIT DR,
PH-DITS—U. Z20ORICHER
(&F] <HRUEERERSD>
K& @ 118 |BRE| 247 |een| BT (ORI =R | &8 |85a] [BREF) #88K
=5 3 11 | 50 | 2 5 (Z24T] =®
fHERKA 1 4 | 10| 2 (=28 &Il =%
FIBK 1 3 | 10 2 (RE4T]
Bl 1 4 |17 | 1 (1) 3 1 1
SEEA 1 4 |17 | 1 2
(BF] <HRUESRRS>
K& BIR TEn= FHRE EERI
KEBIE—EB 1
[DEEAE
(F) <FZ—=IVTHRI> BEHBEL  BFBIE
7| <@ K& 10 | 2@ | 3@ | 4@ | s@mV 6@ | 7@ | 8@ | om || s1% | =47 | f1m | B2 | &%
1 3 Fz [z10 =i =R 3
2| 6 BE#A =10 =R =iR 3 2
3 9 ERET Gal —_N EAST 3 3
4| 7 e P Hf =R 3 2
5| 2 I AN 12DP =i 3
6l 4 SHk =i =710 2
H o5 B4 1 1 1
7| 5 555 =iR =R =iR 3
8| DH CIE] =70 =i h7 3
o| s FH =i R 2 2
BRFEBA BEBRBA
U&F] <F—IVSIRI>
K& [=IE= 118 [BIE| 23T | em | BT (WK = Km |BEm| (BEEF] =R#E
BEY 3@1/3 | 19| 74| 5 2 2 7 (Z247)
I 1@1/3 | 10 | 34 | 2 3 2 4 3 (=247)
STALW 281/3 | 10 | 35 | 2 1 1 2 2 (REHT) BH
(WF] <F—IVSIR>
K& EIR TEn= e EERI
ity 3




